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Expressions, Types, Variables
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Primitive Types

Et =8 A =4
Type Example byte_ G
(= 8 bit)
boolean true, false 1

char '@', 'Q','A", 'a’, ... 2 "\u0000' ~ \uFFFF' (~ 29

byte 1 27 ~ 27-1 (-128 ~ 127)
A short .»-2,-1,0,1,2, ... 2 -215 ~ 2151 (-32768 ~ 32767)
o int 4 -231 ~ 2311 (204 HA)

long .., =2L,-1L, 0L, 1L, 2L, ... 8 _D63 ~ 2631

float |1.0f,3.14f, 0.55f, 3E8f, ... 4 1.4E-45 ~ 3.4028235E38
AlLA
=" | double | 1.0,3.14,0.55,3E8, ... 8 4.9E-324 ~

1.7976931348623157E308
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EXxpressions
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arithmetic expressions)
logical expressions)
assignment expressions)
conditional expressions)
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Arithmetic Expressions

At a7t Y e A

4 =

- e 25 H#Het
el * e2 &ot7|
el / e2 Lt=7|
el % e2 LITHX|
el + e/ C5}7|
el - e/ bel| 7 |




A
=24
Logical Expressions

AA AD7) true EE= false

=4 o|nj H|u =2|4] o|n

l e =2|%9 not el < e2 S|,
el && e2 =2|& and el <= e2 AL 2Lt
el || e2 =2|gh or el >= e2 ALt &}

el > e? L0}

el == e2 A,

el != e2 CH=Ct
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Conditional Expressions

o|Oj

el ? el :

e3

el HAMZAIIL true O|MH e2E HMsStL,
el9| AHAHADIE false O|H e32 HAbsiCE.
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Assignment Expressions

A o|n|
x = eo| AL WIS Al o= Ak ZIZLO|C}.
X =€ 8|7 O AWZS WA xIb J1E|Il= 2o MESIC
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variable declaration

4 K| 3

assignment expression

A
H 2

Variables
ool Au}
: . int
int number; number ,
int
number = 55; number —>‘ 55

System.out.println(number);
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Variables

int number = 55;

Al
=

41

o2k

t

int
number —»‘

55
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Precedence, Associativity

A

M2 Al aet=A
=5 - e I e a8
== el * e2 el / e2 el % e2
el + e’ el - e’
el < e’ el <= e’ el >= e’ el > e’
xraet
el == e’ el = e2
el && el
. el || el
e el ? e2 : e3
P
S = X = e
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public class Geometry |
public static void main(String[] args) {
System.out.println(7 *x 7);
¥

!

public class Geometry A1
public static void main(String[] args) {
int side, area;
side = 7;
area = side * side;
System.out.println(area);

}
}
_ int
side —» ‘
ool Auj

int
area —» ‘




A - BAEGE MY A5

public class Geometry |
public static void main(String[] args) {
System.out.println(7 *x 7);
¥

!

public class Geometry A1
public static void main(String[] args) {
int side, area;
side = 7;
area = side * side;
System.out.println(area);

}
}
_ int
side —» 7 ‘
ool Auj

int
area —» ‘
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public class Geometry |

System.out.printin(7 x 7);
s

public static void main(String[] args) {

!

public class Geometry {

int side, area;
side = 7;
area = side x side;
System.out.println(area);

public static void main(String[] args)

}
}
_ int
side —» 7
s Za} .
int

area —» 49
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public class Geometry A1
public static void main(String[] args) {
int radius;
double area;
radius = 7;
area = 3.14 % radius x radius;
System.out.println(area);

=

}
}
_ int
radius ——»
ol A}

double

area —mm»
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public class Geometry A1
public static void main(String[] args) {
int radius;
double area;
radius = 7;
area = 3.14 % radius x radius;
System.out.println(area);

=

}
}
_ int
radius ——» 7
ol A}
double

area —mm»
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public class Geometry A1
public static void main(String[] args) {
int radius;
double area;
radius = 7;
area = 3.14 % radius x radius;
System.out.println(area);

=

}
}
_ int
radius ——» 7
ol A}
double

area ———» 153.86
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public class Geometry A1
public static void main(String[] args) {

int radius;
double area;
radius = 7;

area = 3.14 x radius * radius;
System.out.printIH%ETEa+;.:::::::::::==

SAIS EbQ) High

}
} ~
_ int
radius ——» 7
# 2z
double

implicit type casting

int => double

area ———» 153.86
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public class Geometry A1
public static void main(String[] args) {
int radius;
double area;
radius = 7;

area = 3.14 £‘F5EI—;—;:Egiiiif::::::::zz
System.out.print16%5?Ea+;,:::::::::::==
}
} — SN Efe! gl

implicit type casting

=

1
ijd
z

\

int => double

_ int
radius ——» 7
ool Ag}
double

area ———» 153.86
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public class Geometry A1
public static void main(String[] args) {
| int radius;
| int area;
radius = 7;
area = 3.14 % radius_x radius;
System.out.println(area);

}
}
_ int
radius ——» 7
Mg Zi3} |
int

area —mm»
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public class Geometry A1

public static void main(String[] args) {
int radius;

int area;
F4}e radius = 7;
OI-EEQ ey 3 (€3 = 3,14 x radius_x radius;
Efl S K| System.out.println(area);

}
}

&7 Type mismatch: cannot convert from double to int

_ int
radius ——» 7 ‘

Al
=

02k

Za |
int
area —m» ‘
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public class Geometry A1
public static void main(String[] args) {

int radius;

int area;

radius = 7;

area = (int)(3.14 % radius * radius);

—— BAH EfY Het

System.out.p rea);
}
}
_ int
radius —» 7
A8 Az} |
int

area —m» 153

explicit type casting

double => int
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public class Geometry {
public static void main(String[] args) Ao
int radius;
int area;
radius = 7;
area = (int) (Math.PI * Math.pow(radius,2));
System.out.println(area);

java. lang

class Math

static double PI

static double pow(double a, dboule b)

_ int
radius —» 7 ‘
A3z

int
area —m» 153 ‘
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public class Demo {

public static void main(String[] args) {
boolean tag = false;
tag = tag && true || ! tag;
System.out.println(tag);

}

>
o2k
Y
icl

boolean
tag >
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public class Demo {

public static void main(String[] args) {
boolean tag = false;
tag = tag && true || ! tag;
System.out.println(tag);

}

>
o2k
Y
icl

boolean
tag >
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Characters

public class Demo |

public static void main(String[] args) {

char c = 'A'";
char n = '0';
char s = '#';

char backspac
char tab = '\
char newline

char return_c
char double_qg
char single_q
char backslas
char hangqul =
System.out.pr
System.out.pr

System.out.println((char) (hangul+1));

e = '"\b';
t';

— I\nl;

haracter = '\r';
uote = "\"';
uote = '"\'";

h = "\\";

I%I_I.I;

intln(hangul);

intln((int)hangul); <

Unicode
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String
"What a wonderful world!"
ZHR| 1!

java.lang

class String
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public class Demo {
public static void main(String[] args) {
String slogan = "XREs M7t OfL[CH!;
System.out.println(slogan);
System.out.println(slogan.length());
String slogan2 =" " + slogan + " ";
System.out.println(slogan2 + "!");
System.out.println(slogan2.length());
String slogan3 = slogan2.trim();
System.out.println(slogan3 + "!");
System.out.println(slogan);
System.out.println(slogan3);
System.out.println(slogan == slogan3);
System.out.println(slogan.equals(slogan3));
System.out.println(slogan.charAt(5));
System.out.println(slogan. substr1ng(4 6));
String slogan_eng = "Freedom is not free";
System.out.println(slogan_eng);
System.out.println(slogan_eng.toUpperCase()
System.out.println(slogan_eng. toLowerCase()
System.out.println(slogan_eng.index0f('o ))
System.out.println(slogan_eng.index0f('o"',6
System.out.println("a".compareTo("d"));
System.out.println("D".compareTo("A"));

);
);
));
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Type Checking

boolean
String
char
byte short int long
float double
7|2 Ef ZH7| Ef S
primitive type reference type

object type
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public class Geometry {
public static void main(String[] args) {
int radius;
double area;
radius = 7;
—— area = 3.14 x radius * radius;
System.out.println(area);
I3

area = 3.14 x radius * radius

int int

double double double

N/

double

N\

double double

N7

double
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Errors

= parsing error
= type error
—
=

declaration error

o Of| 2 = exception error

o =2| 2F logic error
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class Main {
public static void main(String[] args) {

System.out.printin((1 + 2( *x 3);

System.out.println(3 + true);
int 1 = true;
System.out.println(i *x 2);

int n = 3;
double n = 3.14;
System.out.printiln(n);

int d = Integer.parselnt(args([0]);
System.out.printin(1l / d);

int x = 3;
inty =7;
System.out.println(x = y);



1 public class Demo {

20 public static void main(String[] args) {
& 3 int i =1 +.2.3;
4 4 int x = 'Hello!';
5 boolean b = true;
5 6 System.out.println(b._+.5);
&8 7 System.out.println(Math.println(";-("));
8 }
9 }

AuiEc|e] 2F HAX|

Exception in thread "main" java.lang.Error: Unresolved compilation problems:
Type mismatch: cannot convert from double to int
Type mismatch: cannot convert from String to int
The operator + is undefined for the argument type(s) boolean, int
The method println(String) is undefined for the type Math

at Demo.main(Demo. java:3)
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Input

SE 1

Z2 0 olag Mt

Input via Program Arguments

o 2

Input
SWIﬂg c|)=IE—:|| D'”A‘X‘ 7_53"0'”A'| II_'L_éI' MM 258 FAE TN

Input via Input Message Winaow
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public class Demo A{
public static void main(String[] args) {
String who = args([0];
String what = args[1];
System.out.println(who + " likes " + what + ".");

}

public class Demo |
public static void main(String[] args) {
int m = Integer.parseInt(args[0]);
int n = Integer.parseInt(args[1]);
System.out.printin(m + " + " + n+ " ="+ (m + n));

}




public class Geometry 1
public static void main(String[] args) £
int radius;
double area;
radius = Integer.parseInt(args|[0]);
area = Math.PI x Math.pow(radius,2);
System.out.println("gtX|E0| " + radius + "Ql o] HH2 " + grea);

import java.text.x;

public class Geometry {

public static void main(String[] args) {
int radius;
double area;
radius = Integer.parseInt(args([0]);
area = Math.PI % Math.pow(radius,2);
DecimalFormat f = new DecimalFormat("0.00");
System.out.println("gtX|E0| " + radius + "ol o HHM2 " + f,format(area));
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import java.text.x;
import javax.swing.x;

public class Geometry A{

public static void main(Stringl[] args) A
String message = "EIX|SS FA|H A9l WAHZS JtSh=EELICH";
String input = JOptionPane.showInputDialog(message);
int radius = Integer.parseInt(input);
double area = Math.PI x Math.pow(radius,2);
DecimalFormat f = new DecimalFormat("0.00");
System.out.print("gX|Z0] " + radius + "¢l ‘149 HEHE2 "),
System.out.println(f.format(area) + " LICt.");

O Input O Input

& &)

Cancel - Cancel

jo
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